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0001 //

0002 clear;

0003 //

0004 Percorso = /Lo
0005 exec(Percorso + "/
0006 exec(Percorso +
0007 exec(Percorso +

0008 //

0009 T J = 03

0010 T _EG = 0;

0011 NE = [];

0012 //

0013 N = 5000;

0014 // 100: TJ = 1.2d-1 76 = 2.3d-1 EJ = 1.4d-14 EG = 3.29d-17
0015 // 500: TJ = 1.8d-1 TG = 8.2

0016 // 1000: TJ = 2.8d-1 TG = 62

0017 // 2000: TJ = 5.4d-1 troppa memoria necessaria per EGPP
0018 // 3000: TJ = 8.0d-1 troppa memoria necessaria per EGPP
0019 // 4000: troppa memoria per costruire A; senza costruire A:
0020 7/ T = 1.0

0021 // 5000: TS = 1.2

0022 //

0023 A = 3*eye(N,N); A(2:N,1) = ones(N-1,1); A(1:N-1,N) = ones(N-i,1);

0024 b = ones(N,1);

0025 //

0026 c = b/3;

0027 //

0028 x = zeros(N,1):

0029 =xn = x;

0030 x esatta = ones(N,1)/¢; X _esatta(l) = 1/4; X esatta(N) = 1/4;

0031 tic():

0032 for k = 1:30,

0033 8§ = - (X(1)+x(N))/3;

0034 for i = 2:N-1, xn(i) = 8 + ¢(i); end;

0035 Xn(l) = c(l) - x(N)/3;

0036 Xn(N) = ¢(N) - x(1)73;

0037 X = Xnj

0038 NE (k) = porm(x-X_esatta);

0039 end;

0040 T J = toc();

0041 //

0042 for k = find(NE == 0),
0043 printf(*\ne e relat
0044 RES = zeros(N,1);
0045 RES(1) = 3*x(1) + X(N) - b(1);

0046 for i = Z:N-1, RES(i) = 3#x(i) + X(1) + X(N) - b(i); end;
0047 RES(N) = x(1) + 2*x(N) = b(N);

0048 printf("\nnm %4 .3
0049 printf("\nt

NE (k) =

1T1VC J

0050 //
0051 scf(0)7clf()splot(l:30,1oql0(NE))3ixgrid();
0052 //

0053 tic();

0054 [s,D,P,info] = EGPP(A);
0055 [c,info] = SA(S,P*b, "d
0056 [x_EG, info] = SI(D,c,"d
0057 T _EG = toc();

0058 //

0059 printf("\ne
0060 printf("\:
0061 //

\ntenorm(X_EG - X_esatta)/norm(x_esatta));
4 .3e\n", N, T_EG);




